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TRIGONOMETRIC FORMULAE

nght Tnangle Obhque Tmnglet
Solution of Right Triangles

A @ a b [ ¢
For Angle A. sin = G cos= —c-_.tan= ;,cot = - s8ec = 7, cosec = =

Given Required 5
@ b 4, B, 'ln‘{—%=COIB,6=\/E;+51=GJ1+_‘

@ ¢ (A Bb| sind= :—=cos8b=\/fc+a$ic——a —-c\/l——-

A a B b e B=90°—A,b =acotd, ¢e=
sin A.

b
cos 4.
B a b B=90°—A,a =c¢sind,b=0ccos A4,
Solution of Oblique Triangles

Required inC
boo C| b= “T"'%i—} € =180°—(4+ B), o =207

Bia,c| B=90—A,a=btand,c=

sin A

= b sin A i, 2 sin O
B¢ C sin B —a = 180°—(4 + B),¢c = it

4, B c| A+B=180°—C,tan } (A~ B)= ‘—b%‘b‘“”’
a sin

og:inA

a+ +6

(s u~c

A= - nin{A-—V ,

sinjB= \/@?—,0=180°—(‘{+5)

’=m+§+c, area = \/3(s—a) (3—0) (3—¢)
besin A
area = ————
a? sin B sin O
2 sin 4

REDUCTION TO HOR!ZONTAL

Horizontal dist =Slope d Itiplied by the
ce cosine of the vemcul angle. Thus sloned!s(nncc —319 41t
&,\“‘ Vert. angle =5° 10’. From Table, Page IX. cos 5° 10/'=
02 .9959, Honzomal distance =319.4X.9959=2318.09 ft.
e\ ! Horizontal distance also = Slepe distance minus slope

area =

distance times (1—cosine of vertical angle). With the
same flzlures ;s in zh%pl}ecegu‘%‘enmolf the fol&)):v-
ing result is obtained. Cosine = —.9959=.
Horizontal distance § Fon s Dt 81 =310 1
When the rise js known, the horizontal distance is approximately:—the slope dist-
ance leu the square of the rise divided by twice the slope distance. Thus: rise=1¢ ft.,

slope d 3026 ft. Hori 1 distance=302.6- 2‘:(;;‘ =302.6—0.32=302.28 ft.
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